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MDC & Voc./[AEC-2/CCF/Set-2(Day)

The figures in the margin indicate full marks.
SET - 2 (DAY)

For all Four & Three Year B.A./B.Sc./B.Com./B.Mus. and
Four Year B.A./B.Sc./B.Com. Vocational Candidates.

Answer the following multiple choice questions by ticking the correct alternative.

. Lucy Gray has been described as

(A) brave child (B) young child
(C) solitary child (D) sad child.
. Who detected Lucy Gray’s footprints on the snow?
(A) Lucy’s father (B) Lucy’s brother
(C) Lucy’s friend (D) Lucy’s mother.
. In the poem ‘Lucy Gray’ the storm came
(A) at midnight (B) in the afternoon
(C) with strong force (D) before its time.
. Where can Lucy Gray be still found?
(A) Home (B) Lonesome wild
(C) Bridge (D) Forest.
. “How do I love thee” is a poem from the collection titled?
(A) Sonnets from the Portugese (B) Sonnets from Spain
(C) Tottel’s Miscellany (D) Holy Sonnets.
. I love thee to the depth and
(A) breadth and height (B) height and breadth
(C) sincere and solemn (D) solemn and sincere.

. I shall but love thee better

(A) in future (B) after marriage
(C) in heaven (D) after death.
. Who has written the sonnet “How do I love thee”?
(A) Christina Rossetti (B) Elizabeth Barrett Browning
(C) Anne Bronte (D) George Eliot.
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Wilfred Owen was a
(A) First World War
(C) Victorian

9.

poet.

(B) Second World War
(D) Neo-classical.

10. In “Anthem for Doomed Youth” the firing of the guns is described as
(A) dangerous wrath (B) vengeful wrath
(C) monstrous anger (D) devil’s anger.
11. The central theme of Owen’s “Anthem for Doomed Youth” s
(A) celebration of war (B) horrors of war
(C) glory of war (D) history of war.
12. ‘Passing-bells’ in Owen’s poem indicates
(A) Coronation (B) Wedding
(C) Funeral (D) Victory.
13. What was the thief’s age when he met Arun?
(A) Fourteen (B) Twelve
(C) Fifteen (D) Sixteen,
14. The thief wanted to leave Amritsar by
(A) 10.30 Express (B) 1130 Express
(C) 11.45 Express (D) 1045 Express.
15. Why was the thief grateful to Arun?
(A) He taught hﬁm to wrestle (B) He taught him to cook
(C) He taught 'hlm to read and write (D) He taught him to steal
16. How did the thief realize that Aryp knew about hig attempt to rob himo
(A) Some notes were missing ®) Arn caght hivy o .l.
(C) The thief confessed D) Th Stealing
€ notesg were wet
17. Johnsy fell very seriously ill in
(A) Jamary (B) November
(C) September | ©) May.
18. Why woul.d the medicines not help Johnsy accordin
(A) She did not want to Ijve 8 o the Doctor?
(C) She could not be cureq (g) She did ot take medicines
19. Who was Behrman? (D) Her disease coylq not be determined.

(A) A fifty-year old painter
(C) A forty-year old painter (B) A Sixty

“Year old painter
D) A thir

ty-year old painter.
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When did Johnsy think she would die?
(A) After Autumn (B) After the last ivy leaf fell
(C) After the last pine leaf fell (D) After winter.
What was Behrman’s masterpiece?
(A) The last leaf (B) Johnsy’s portrait
(C) The first leaf (D) Sue’s portrait.
O. Henry’s real name is
(A) William Blake (B) William Faulkner
(C) William Butler Yeats (D) William Sydney Porter.

Ram Mohan Roy was rejected by his countrymen because
(A) they refused to be reminded of their great inheritance
(B) the country still practised Sati

(C) he supported the British

(D) his ideas were conservative.

Ram Mohan Roy appeared in the Indian Society like

(A) a storm (B) a shower

(C) an earthquake (D) a rainbow.

In ‘Ram Mohan Roy’ the word ‘confluence’ means

(A) centre (B) point of separation
(C) point of meeting (D) circumference.
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